QXFS 07 FUJI FILM TEST

1. Installed stiffener plate on tooling, re-installed M20 bolts and tightened. 
2. Installed RE End plate, mounting lugs and hoist rings.
3. Detach Power lead supports and coil leads near the LE and clamp to fixture. 
4. Flipped coil over 180 degrees and set on 3” x 3” aluminum bars
5. Attach fixture hold down clamps to the table 
6. Removed M20 bolts and top plate. 
7. Removed alignment bars
8. Removed form blocks starting from LE to RE. 
9. Removed SS liner
10. Fabricated a replacement liner (Below)

[image: Q:\HFM\LARP\QXF Coils\QXFS\QXFS Coil 7\Impregnation\Fuji Film Test\QXFS07 Fuji Film Test.png]
11. Placed replacement liner / Fuji Film on top of coil. 
12. Install 35 mil shim on surface of stiffener plate. 
13. Install form blocks 1-32 from LE to RE.
14. Re-installed M20 bolts and top plate and torqued bolts to 55 ft/ lbs
15. Installed alignment bar and bolts. 
16. Installed RE end plate. 
17. Installed mounting lugs and hoist rings. 
18. Rolled over 180 degrees and set on aluminum bars. Installed hold down clamps.
19. Loosened M20 bolts and took out 35 mil shim. 
20. Replaced 35 mil shim with 20, 10, 5 and 0 mil shim and check for gaps at each step.

	SHIM THICKNESS
	FT/LBS
	GAP

	 
	 
	 

	35 mil
	55
	0 (Closed)

	 
	 
	 

	20 mil
	55
	0 (Closed)

	 
	 
	 

	10 mil
	55
	1-2 mils from #7 - #26 both sides

	 
	80
	1 mil on Transition side #14 

	 
	100
	0 (Closed)

	 
	 
	 

	5 mil
	55
	1-2 mils from #7 - #26 both sides

	 
	80
	1 mil at #14 and #15 both sides

	 
	100
	0 (Closed)

	 
	 
	 

	0 mil
	55
	1-2 mils #4 - #30 both sides

	 
	80
	1-2 mils #9 - #26 both sides

	 
	100
	0 (Closed)



21. [bookmark: _GoBack]Repeated steps in reverse order to remove the Fuji Film test shell for analysis. 

image1.png
10 mil Mylar

J
{

10 mil Mylar

2layers of
2mil dry Kapton

6 .Tml Ll:w F;J'dF“m 6 mil medium Fuji Film
ansition Side Non Transition Side




